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BESE-135 : INFORMATION AND 
COMMUNICATION TECHNOLOGY 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Explain the meaning and features of ICT mediated 
teaching-learning environment. Describe basic 
infrastructural facilities required for ICT mediated 
teaching-learning environment. 

OR 

Explain the meaning and process of collaborative 
learning. Discuss how you can design activities 
for collaborative learning using Internet. 

2. Answer the following question in about 
600 words : 

Discuss how ICT can play a vital role in 
communicating and collaborating among schools, 
parents and the communities. 

OR 

What is ICT-based learning support system ? 
Discuss any three ICT-based learning support 
system. 
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3. 	Answer any four of the following questions in 
about 150 words each : 

(a) Explain the meaning and significance of 
U-learning. 

(b) Compare satellite communication with 
terrestrial communication. 

(c) Explain the meaning and importance of 
Creative Common License. 

(d) Mention advantages and disadvantages of 
Computer Assisted Instruction (CAI). 

(e) What is TPACK ? Why is it important in 
the teaching-learning process ? 

(f) Discuss how ICT can help children with 
special needs. 

	

4. 	Answer the following question in about 
600 words : 

What is meant by Web 2.0 technology ? Discuss, 
with examples, how different Web 2.0 
technologies can be used in the teaching-learning 
process. 
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